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1. The domain of a logarithmic function f(x)=1log, x is C 01’ n@\/ lpt

2. The graph of every logarithmic function f(x)=log, x, where a >0, and a # 1, passes through three
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\q\‘B. True or If y=log,x,then y=a*.
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4, or False: The graph of f(x)=log, x, where a>0, and a # 1, has an x-intercept equal to 1 and no y-

intercept.
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Find the domain of each function. Write the answers in interval notation. SHOW WORK!
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Use the given function f to: \ %
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(a) Find the domain of f and any asymptotes of f. (b) Write the transformations. (c) Graphf. (d) Fromthe" . 3
graph determine the range. -}"
Use transformations and a table of values for at least 3 key points to get the graphs. No graphing ‘
calculators!
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